
Year 1 – Worksheet 7  

Number bonds to 20: We can look at number bonds to 20 as pairs of numbers with a 

total of 20. 

You can use your number bonds to 10 to help you. 

Can you spot the pattern? You can use objects to help you find the missing number.  

 

Bonds to 10 

0+____=10 

1+ ____=10 

2+____=10 

3+____=10 

4+____=10 

5+____=10 

6+____=10 

7+____=10 

8+____=10 

9+____=10 

10+____=10 

Bonds to 20 

0+____=20 

1+ ____=20 

2+____=20 

3+____=20 

4+____=20 

5+____=20 

6+____=20 

7+____=20 

8+____=20 

9+____=20 

10+____=20 
 


